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calculate coefficients
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the area for the thickening
J, zone
Increase x, to calculate J/
the curve slope until slope
error greater than epsilo-m, Compare these two areas
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to get Py(x4,Y4)

!

Calculate my and use Hu to
get tu
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Bt % —
1.123 %

type waste.c

#include <stdio.h>
#include <math.n>

fidefine PI 3.14159
fidefine epsilo le-4
fidefine epsilo_m 2e-3
#define delta le-6
#define delta_x 0.1

typedef float arri[100];

typedef float arr2[100][4];

float X1,Y1,X2,Y2,X3,Y3,X4,Y4,X5,Y5,Xn_1,Yn_1,Xn,Yn,
float ml,ml,m3,m4,C0,Cu,Q,HO,Hu,tu,A,thita,X401d;
float mlold;

arrl x,y;

arr2 s;

int n,choice;

float v,A2,overflow_rate,solid ,solid loading;

float fl(float X);

float f2(float X);

float df2(float X); /*differential f2*/

float f3(float X);

float df3(float X); /*differential f3*/
void data_file_input (void);

void cubic_spline(int choic);

float cubic_solve(float intx);

float dcubic_solve(float intx); /*differential cubicsolve*/

main()

(
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printf("Input:\n");

data_file_input();

X1=x[0]; Yl=y[0]; Xn=x[n]; Yn=y[n];
C0=4000.0;Cu=24000.0;0=400.0; HO=0.4; choice=1;

cubicspline(choice);
X2=delta_x;
mlold=(f2(X2)-f2(X1)/(X2-X1);
do {
X2=delta_x;
ml=(f2(X2)-f2(X1)/(X2-X1);
} while (fabs(ml-mlold)<epsilo_m); /*determine p2*/
m2=df2(Xn);
X3=(-m2*Xn-Yn+ml1*X1-Y1);/(ml-m2);
Y3=(m2*(m1*X1-Y1)-ml*(m2*Xn-Yn))/(ml-m2);
thita= (atan(ml)+PI+atan(m2)) /2.0;
m3=tan(thita);
X4=X3; /*initial guess of X4*/
do {
X401d=X4;
X4=X4-f3(X4)/df3(X4); '
} while (fabs(X401d-X4)>epsilo); /*Newton’s method*/
Y4=Ff2(X4);
m4=df2(X4);
Hu=Y5=C0*Y1/Cu;
tu=X5=(Y5+m4*X4-Y4)/m4;
printf("Result Output :\n");
printf(" tu :=%5.1f\n",tu);
A=Q*tu/HO/(24.0%60.0);
printf(" Al =%5.1f\n",A);
v=(H0-f2(X2),/X2/(1/60.0); /*subsidence velocity*/
overlow_rate=Q*(HO-Hu)/HO;/*overlow rate*/
A2=overflow_rate/24.0/v; /*area required for clarification*/

solid_loading=(so01id=Q*C0/1.0e3)/A;
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printf("compared with A2=%5.1f\n",A2);
if (A2>A) A=A2;/*compare 2 areas*/
printf(" *We get Area :=%5.1fm*"2/n",A);
printf(" *overflow rate :=%5.1f m*3/d\n",overflow rate);
printf(" *solid loading :=%5.1f kg/m*2/d\n",solid_loading);
}/*end of main()*/ '

float fl1(float X)
{return(m3*X+(-m3*X3+Y3));}
float f2(float X)
{return(cubicsolve(X));}
floarn df3(float X)
{return(dcubicsolve(X));}
floatd f3(float X)
{return(fl(X)-f2(X));}
float df2(float X)
{return(f3(X+delta)-f3(s-delta))/delta/2);}
void data fileinput(void)
(FILE *f1;

char str[15]

int i,

printf(" Data file name?");gets(str);
fl=fopen(str, "r+t"); )
if (fl==NULL) printf ("cannot open the file! \n");exit(l);
fscanf (fl,"%d",&n);
if (n<=100)

n-=1;

for (i=0;i<=n;i++)

fscanf (fl,"%f %f",&x[i], &y[i];

fclose (fl);)}
else)

printf ("Number of datas is over 100 | | ");

fclose (fl);
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exit(1);)

}
/* ______________________________________________________________ */
/*Cubic Spline proceduer is to calculate the coefficents of each*/
/*interval. */
/* switch (choice)}) */
/* case 1 : Natural cubic spline. */
/* case 2 : S"(x) is constant near the endpoints o x/
/* case 3 : Extrapolate S"(x) to the endpoints . } */
/*Reference ; NUMERCAL METHODS, JOHN H.MATHEWS p.238-p.249 */
/* ______________________________________________________________ */

void cubicspline (int choice )
arrl a,b,c,d,m,h,v;
float t,w;

int i;

h[0]=x[1]-x[0];
d[0]=(y[1]-y[0])/h[0];
for (i=1;i<=n-1;i++) )
h [i]=x[1+1]-x[1i]
d [i]=(y[i+1]-y[i1)/h[i];
a [1]=h[i]
c [i]l=h[i];
[11=6*(d[i]-d[i-1]);)

switch (choice))

<

case 1: break;

case 2: b[1]=b[1]+h[0];b[n-1]=b[n-1]+h[n-1]; break;

case 3: b[1]=b[1]+h[0]+h[0]/h[1];
c[ll=c[1]-h[0]*h[0]/h[1]
b[n-11=bIn-1]+h[n-1]+h[n-1]*h[n-1]/h[n-2];
a[n-2]=a[n-2]+h[n-1]1*h[n-1]1/h[n-2];
break;

default :printf("Choice is not in 1..3! \n");eit(1);)

for (i=2;i<=n-1;i++) )
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t=a[i-11/b[i-1];
b[i]=b[i]-t*c[i-1];
viil=v[i]-t*v[i-11; }
m[n-i]=v[n-i]l/b[n-1];
for (i=n-2;i>=1;i--)
m[il=(v[i]-c[i]*m[i+1])/b[i];
switch (choice) }
case 1: m[0]=0; m[n]=0; break;
case 2: m[0]=m[1];m[n]=m[n-1]; break;
case 3= m[0]=m[1]-h[0}*(m[2]-m[1])/h[1];
break;}
for (i=0;i<=n-1++) }
s[11[0]=y[i];
s[i][1]=d[i]-h[i]*(2*m[i]+m[i+1])/6;
s[i1[2]=m[i]/2;
s[i]1[3]1=(m[i+1]-m[i1])/6/h[i];)
(
float cubicsolve (float intx)
{ float w;
int i ,k;
if (intx<[0]]||intx>>x[n]))
printf ("intx value (%f) is out of range! ! \n",intx);
exit(l);}
if (intx==x[0]) k=0;
else
for (i=i;ik=n;i++))}
if (intx<=x[i]) (k=i-1; i=n;})} }
w=intx-x[k];
return( ((s[k][31*w+s[k]1[2])*w=s[k][1])*W+S[K][0]);}}
(
float dcubicsolve (float intx)
float w;
int i,k;

if (intx<x[0]]]intx>x[n]))
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printf("intx value(%f) is out of range | | \n",intx);
exit(1l);)}
if (intx==x[0]) k=0;
else
for (i=l;i<=n;i++)}
if (intx<=x[i]) k=i-1; i=n; }}
w=intx-x[k];

return( (3*s[k]1[3]1*w=2*s[k][2])*w+s[k][1]);
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C:\TC>type waste.dat

13

0 0.4

5 0.33
10 0.25
15 0.2
20 0.16
25 0.13
30 0.11
35 0.1
40 0.09
45 0.085
50 0.08
55 0.075
60 0.07

3.Ep—IERXBITHR
C:\TC>waste
Input:
Data file name ?waste.dat
Result Output:
tu:=32.3
A1=22.5 conpatred with A2=15.4
*We get Area:=22.5m2
*overflow rate:=333.3m3/d
*solid 1oading:=7l.3kg/m2/d
C:\TC>
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